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TUPLES METHODS AND BUILT-IN FUNCTIONS

Method Description Example
len() Returns the length or the number of >>> tuplel = (10,20,30,40,50)
elements of the tuple passed as the >>> len (tuplel)
argument
5
tuple() Creates an empty tuple if no >>> tuplel = tuple()
argument is passed >>> tuplel
()
Creates a tuple if a sequence is >>> tuplel = tuple('aeiou')
passed as argument >>> tuplel
(|a|, 'e', lil, 'O'[ lul)
>>> tuple2=tuple([1,2,3])
>>> tuple2
(1, 2, 3)
>>> tuple3 = tuple(range(5))
>>> tuple3
(0, 1, 2, 3, 4)
count() Returns the number of times the >>> tuplel(10,20,30,10,40,10,50)
given element appears in the >>> tuplel.count (10)
tuple 3
>>> tuplel.count (90)
0
min() Returns minimum or smallest >>> tuplel=(19,12,56,18,9,87,34)
element of the tuple >>> min (tuplel)
Returns maximum or largest 9
max() element of the tuple. >>> max (tuplel)
Returns sum of the elements of the 87
sum() tuple
>>> sum(tuplel)
235
index() Returns the index of the first >>> tuplel = (10,20,30,40,50)
occurrence of the element in >>> tuplel.index(30)
2
tl.le >>> tuplel.index (90)
given tuple ValueError: tuple.index(x): x not in tuple
Takes elements in the tuple and >>> tuplel =
("Rama", "Heena","Raj","Mohsin" 6 "Aditya")
sorted() returns a new sorted list. It should

be noted that, sorted() does not
make

any change to the original tuple

>>> sorted(tuplel)
('Aditya', 'Heena', 'Mohsin', 'Raj',

'Rama')
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DICTIONARY METHODS AND BUILT-IN FUNCTIONS

Method Description Example
len() Returns the length or | >>> dictl =
number of key: value pairs { '"Mohan' : 95 ’ 'Ram' :89 ’ 'Suhel':92 ’
of the dictionary passed as | 'Sangeeta':85}
the argument >>> len(dictl)
4
dict() Creates a dictionary pairl = [('Mohan',95), ('Ram',89),
from a sequence of ('Suhel',92), ('Sangeeta',85)]
. >>> irl
key-value pairs pat®
[ ('"Mohan', 95), ('Ram', 89), ('Suhel', 92),
('Sangeeta', 85)]
>>> dictl = dict(pairl)
>>> dictl
{'Mohan': 95, 'Ram': 89, 'Suhel': 92,
'Sangeeta': 85}
keys() Returns a list of keys in >>> dictl = {'Mohan':95, 'Ram':89,
the dictionary 'Suhel':92, 'Sangeeta':85}
>>> dictl.keys ()
dict keys(['Mohan', 'Ram', 'Suhel',
'Sangeeta'])
values|() Returns a list of values >>> dictl = {'Mohan':95, 'Ram':89,
in the dictionary 'Suhel':92, 'Sangeeta':85}
>>> dictl.values ()
dict values([95, 89, 92, 85])
update() appends the key-value pair | >>> dictl = {'Mohan':95, 'Ram':89,

of the dictionary passed
as the argument to the
key-value pair of the
given dictionary

'Suhel':92, 'Sangeeta':85}
>>> dict2 = {'Sohan':79, 'Geeta':89}
>>> dictl.update (dict2)

>>> dictl

{'Mohan': 95, 'Ram': 89, 'Suhel': 92,
'Sangeeta': 85, 'Sohan': 79, 'Geeta':
89}

>>> dict2

{'Sohan': 79, 'Geeta': 89}




del() Deletes the item with the >>> dictl = {'Mohan':95, 'Ram':89,
given key 'Suhel':92, 'Sangeeta':85}
To delete the dictionary from | >>> del dictll'Ram’]
the memory we write: >>> dictl
del Dict name {'Mohan':95, 'Suhel':92, 'Sangeeta': 85}
>>> del dictl['Mohan']
>>> dictl
{'Suhel': 92, 'Sangeeta': 85}
>>> del dictl
>>> dictl
NameError: name 'dictl' is not defined
clear() | Deletes or clear all the items | >>> dictl = {'Mohan':95, 'Ram':89,

of the dictionary

'Suhel': 92,
>>> dictl.clear()

'Sangeeta’':85}

>>> dictl
{1}




